Notacion Cientifica (I)

Convierta cada niumero de notacion cientifica a ordinaria.

4,75 x 10° = 5,7 X 108 —
7959 x 108 = 1,9x10° =
3,98 x 10* = 4,696 x 107 =
6,39 x 108 = 5,397 x 108 =

9,7 x 108 = 9,38 x 10° =

42 %108 = 8,555 x 10 =
5109 x 10> = 7,7 X 103 —

32x10* = 79x 106 =
6,669 X 105 = 9,155 x 10° =
7,342 x 10* = 3 x 10° —
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Notacion Cientifica (I) Respuestas

Convierta cada niumero de notacion cientifica a ordinaria.

4,75 x 10°

7,959 x 10°

3,98 x 10*

6,39 x 10°

9,7 X 108

4,2 x 108

5,109 x 10°

3,2 x 10*

6,669 X 10°

7,342 x 10*

475.000

795.900.000

39.800

639.000.000

970.000.000

420.000.000

510.900

32.000

666.900

73.420

5,7 x 108

1,9 x 10°

4,696 x 107

5,397 x 108

9,38 x 10°

8,555 x 10°

7,7 x 103

7,9 x 10°

9,155 x 10°

3 x 10°

570.000.000

190.000

46.960.000

539.700.000

9.380

8.555.000

7.700

7.900.000

915.500

300.000
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